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Follow Directions Carefully

TRUE OR FALSE:  Indicate whether the statement is true or false by placing a T or F, respectively, in the space preceding the statement.  (4 points each)
1.


Of medicated ointments, creams, and lotions, only ointments cannot be an “emulsion” system.  

2.


Unit dose medications are those medications which are ordered, packaged, handled, administered and charged in multiples of single does units containing a predetermined amount of drug or supply sufficient for one regular dose, application or use.

3.


During the first pass effect, drugs pass from the gastrointestinal lumen, through the gut wall, then enter hepatic circulation. Since the gut wall and the liver are sites of drug metabolism, a fraction of the amount absorbed may be eliminated (metabolized) before reaching the blood stream. Therefore, an oral dose of a drug may be completely absorbed and completely becomes available to the systemic circulation because of pre-systemic of first pass metabolism. 

4.

    One advantage that polyethylene glycol (PEG) offers as a topical ointment base is that most drugs are soluble in the PEG bases, and it is dissolved drug that moves through the ointment base to deliver drug to the skin surface.

5.


According to the guiding principles that governs hospital formulary, which were adopted by AHA and ASH “ a term substitute or substitution should be avoided in hospital formulary system since these terms have been used to imply the unauthorized dispensing of a brand different from that prescribed or the dispensing of an entirely different drug”.    

6.


General reference section is a section that includes information and aids that are used in patient care.   

7.


Solubility is an equilibrium situation, which is not temperature sensitive.  

8.


Sweetened hydroalcoholic solutions are called elixirs. 

9.


A term sparingly soluble is used describe the solubility when 30 to 100 parts of solute are required for 1 part of solvent. 

10.


If a drug has poor stability in an aqueous solution, such that a short shelf-life would be inevitable, the product can be prepared as a dry powder or granule form intended to be reconstituted as a solution by a pharmacist by addition of a prescribed amount of purified water.

SHORT ANSWER:  Provide a brief response to each of the following questions:

11.
 (5 points)  Unit-dose dispensing may be accomplished by CUDD or DUDD. What are these  

       terms refer to? What is the main distinction between them?   

12.
 (5 points)  MOSAICS. What does this term stand for?  What is it?

13.
  (5 points)  Non-polar compounds like benzene and napthalene do not have a sufficiently   

         high dielectric constant to separate polar molecules like the ions of NaCl. How could these  

         compounds dissolve those molecules?  

14.   (5 points)  What is the main difference between formulary and drug catalogue or list? 

MULTIPLE CHOICE:  Unless otherwise instructed, circle the letter corresponding to the  most correct answer.

15.
(3 points)  The formulary is generally divided into four general sections:

a.
Introduction, ASO, Pharmacology list, and Drug monographs

b.
Introduction, Drug list, Toxicology list, and Drug monographs

c.
Introduction, Therapeutic index, Drug monographs, and Information aids that are used in patient care

d.
Introduction, Therapeutic index, Pharmacology index, and General reference Section

16.
(3 points)  (FDLS) refers to:

a.
Federal Drugs Law System

b.
Formulary Drug Listing Service 

c.
Forwarded Drug List Sample

d.
Formulary Drug Liability System

 17.
(3 points)  There is a simple reason why the pharmaceutical manufacturer will not use heat

          to assist in the dissolution of components for an oral elixir.  Which is it?


a. Heat will not assist in the dissolution of the components.


b. Heat will cause evaporation of one or more of the components.


c. Agitation takes less energy to dissolve the components.


d. Agitation requires less production space to dissolve the components.

18.
   (3 points)  Which of the following can be considered an occlusive ointment base?        

         (Circle as many as would be correct.)


    a. Hydrocarbon base       b. Silicone ointment   
  c. Anhydrous absorption base  

          d. Emulsion absorption base


e. Water removable base


19.
(3 points)  If using the fusion method for extemporaneous preparation of a topical ointment, a pharmacist should:  (Circle as many as are correct.)  

a. If it is a suspension system, use a homogenizer to evenly distribute solid drug crystals throughout the liquefied ointment base.

b. Cool the mixture at a rate appropriate for the desired final viscosity.  A rapid rate provides a thinner ointment and a slow rate yields a thicker ointment.

c. Apply only mild stirring while cooling.

d. If it is an emulsion system, heat and prepare the oil and water phases separately, and then mix the two together while still heated.

MATCHING:  Follow the directions for these questions carefully.

20. (15 points)  Match the description with the appropriate selection or selections by placing the description letter in the space preceding the description name or term.  



Sorbitol 
a. Sugar or sugar substituent 



Saccharin
b. Benzoic acid



Sucrose
c. Cap-locking




 d. Preservative

      
Methylcellulose




 e. Sweetner

      
Propylene glycol         f. Viscosity agent for diabetic patients

                                                         g. Solvent for oral preparation

  h. Cosolvent 

Laboratory Section:

21.  (10 points)  Answer the following questions:
R/ 

     Benzoic acid

0.125 g

     Eucalyptol

0.091 g

     Methanol


0.052 g

     Methyl salicylate

0.055 g

     Thymol


0.063 g

     Sodium lauryl sulfate
0.250 g

     Propylene glycol

15.0 ml

     Purified water ad

100.0 ml 

i. The nature of the above formulation is:

1. True solution

2. Hydrophilic solution

3. Hydrophobic solution

4. Association colloid    

ii.  The slight foam that happened on using this mouth wash is due to:

iii. Substitution of sodium lauryl sulfate by increasing propylene glycol to 

                    30% could result in: 

BONUS (5 points):  NO PARTIAL CREDIT WILL BE GIVEN
         The maximum solubility of benzene in water is 0.02 M. However, phenol can make 

         a 0.7 M solution. Based the structure shown below, why is phenol more soluble in   

         water than benzene is? How would toluene's solubility compare to benzene and phenol?   
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	Benzene
	Phenol
	Toluene (sol 0.067% w/w)


